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1/;1 Show that the ‘production possibility frontier’ given by the equation
y=—x’ =x+20 is concave to the origin.
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(h) Obtain the explicit functions for the following implicit function: y* =3x" =4=0.
Are these explicit functions single valued?
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2. Answer any four questions from the following:
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(2) Find the expenditure function for the utility function U = xxy™* (0<a<l).
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In a perfectly competitive market, the demand and supply functions are
D=10-0 and §=0Q+2. Find the consumer’s surplus at the equilibrium.
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fc/)%nsidcring the following demand and average cost function, estimate the level
of output which maximises the profit. Compute the values of maximum profit and
price. P=10e™*, AC = -i— where x = demand, P = Price, AC = Average Cost.
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(d) Show that in a two good world, expenditure share weighted sum of income 342
clasticities is unity and show that the two goods cannot be superior
simultaneously.
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(€) Given the utility function U =LY where L is leisure time and Y IS income.
Derive the labour supply function and what will be the shape of the labour supply
curve? |
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